
EG520−7N

EG520−1A

370 420 470 520 570

Blo

L lo

λ /nm

uλ

Bla, Blo-Daten
Bla=(Blo+ 1 − Blo)/2=0,5
L lo = Blo− = 1 − Blo
Blo, Bla, L lo = 1 − Blo

uλ=(λ − 550) / 50
logBo =−0,35[uλ−u470]2

Blo = Bo
Adaptation: λXL=470
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log(Blam)=−0,30
Blam=0,5
Schwelle
ta=0,00

EG520−2A

370 420 470 520 570

log[Blo]
log[L lo]

λ /nm

uλ

logarithm. Bla, Blo-Daten
log[Bla=(Blo+ 1 − Blo)/2]
log[L lo = Blo− = 1 − Blo]
log[Blo, Bla, L lo = 1 − Blo]

uλ=(λ − 550) / 50
logBo =−0,35[uλ−u470]2

log[Blo  = Bo]
Adaptation: λXL=470
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maximum
log(Blam)=−0,35
Blam=0,44
Schwelle
ta=0,00

EG520−3A

420 470 520 570 620

Glo

Rlo

λ /nm

uλ

Gla, Glo-Daten
Gla=(Glo+ 1 − Glo)/2=0,5
Rlo = Glo− = 1 − Glo
Glo, Gla, Rlo = 1 − Glo

uλ=(λ − 550) / 50
logGo =−0,35[uλ−u520]2

Glo = Go
Adaptation: λTR=520
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maximum
log(Glam)=−0,30
Glam=0,5
Schwelle
ta=0,00

EG520−4A

420 470 520 570 620

log[Glo]
log[Rlo]

λ /nm

uλ

logarithm. Gla, Glo-Daten
log[Gla=(Glo+ 1 − Glo)/2]
log[Rlo = Glo− = 1 − Glo]
log[Glo, Gla, Rlo = 1 − Glo]

uλ=(λ − 550) / 50
logGo =−0,35[uλ−u520]2

log[Glo  = Go]
Adaptation: λTR=520
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maximum
log(Glam)=−0,35
Glam=0,44
Schwelle
ta=0,00

EG520−5A

470 520 570 620 670

L lo

Blo

λ /nm

uλ

L la, L lo-Daten
L la=(L lo+ 1 − L lo)/2=0,5
Blo = L lo− = 1 − L lo
L lo, L la, Blo = 1 − L lo

uλ=(λ − 550) / 50
logLo =−0,35[uλ−u570]2

L lo = Lo
Adaptation: λBU=570
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0,0
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1,0
maximum
log(L lam)=−0,30
L lam=0,44
Schwelle
ta=0,00

EG520−6A

470 520 570 620 670

log[L lo]
log[Blo]

λ /nm

uλ

logarithm. L la, L lo-Daten
log[L la=(L lo+ 1 − L lo)/2]
log[Blo = L lo− = 1 − L lo]
log[L lo, L la, Blo = 1 − L lo]

uλ=(λ − 550) / 50
logLo =−0,35[uλ−u570]2

log[L lo  = Lo]
Adaptation: λBU=570

−3 −1  1  30

550400 510 600 700
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−0,5

  0,0

maximum
log(L lam)=−0,35
L lam=0,44
Schwelle
ta=0,00

EG520−7A

520 570 620 670 720

Rlo

Glo

λ /nm

uλ

Rla, Rlo-Daten
Rla=(Rlo+ 1 − Rlo)/2=0,5
Glo = Rlo− = 1 − Rlo
Rlo, Rla, Glo = 1 − Rlo

uλ=(λ − 550) / 50
logRo =−0,35[uλ−u620]2

Rlo = Ro
Adaptation: λGW=620
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maximum
log(Rlam)=−0,30
Rlam=0,5
Schwelle
ta=0,00

EG520−8A

520 570 620 670 720

log[Rlo]
log[Glo]

λ /nm

uλ

logarithm. Rla, Rlo-Daten
log[Rla=(Rlo+ 1 − Rlo)/2]
log[Glo = Rlo− = 1 − Rlo]
log[Rlo, Rla, Glo = 1 − Rlo]

uλ=(λ − 550) / 50
logRo =−0,35[uλ−u620]2

log[Rlo  = Ro]
Adaptation: λGW=620
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log(Rlam)=−0,35
Rlam=0,44
Schwelle
ta=0,00


